EARAROBREBRT —5 XN—ZXBISH—F

2023688208 (B) 3EUVE4H

I SREE3 L KESF

N=FaN
/b

) EE

‘(fﬁ} W ‘I%EH?’JF&] I

[AE%] 17%&:7,900,000 § ~ 237&:3,200,000 .~ 37 :2,000,000H  43%&:1,200,000H 53 :790,000

B\RE FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
W — v 5 | BEH 3:08.3 1-1-1-1 13.2 - 2 446 | PREHFRE (FR)
117/9|0v21 60.0 (-) g |B/=E
RiF4—=TFAVNT~ B:yvrOvd e
N ; o7 | AVEIIRKR 3:10.7 4-2-2-2 | 13.3| - 1 74 | HIRE (ER)
) 7| ANV KT IL— #59.0 I44) 6 | BEZES @)
R:FWTz—=I) B:AYYTI— #HBI77—LA
< Sy~ i : -4-5- - FH#E— (EH
311l e r—tvAusY # o6 | L5 3.(}%).3 3-4-5-4 | 13.4 3 z:g;; z:sEE'fEm( )
R:FA—=TAVNT S B b=tV TUVUTY BREM IRFAT7—L
Py o6 | PRNEZ 3:12.7 8-7-3-3 |13.5| - 5 | 514 | AEEE ER)
4710 AXDFTLY 60.0 2172 ) |FHER
R:IRATVFUY B:IFILR T s
~ INEFEER : ~5-6- - FEBEN (FER)
5l5]5 IALEALEVZAND 6 s (?3].112/.29) 7-5-6-6 | 13.5 4 (4:322) anlgﬁ
RiW—=>—=ywF B:ST7IFa7U— #HBEIT7—L
= p # 5 | BEK 3:13.2 10-11-8-7 | 13.5| — 7 506 | FZLLESHC (BRER)
6 4T4Ib777 0.0 i 1) P ﬁ@%
RiAAY3VR—5— B:I—-IYUE1UT1 [STke]
os . 55 : -10-8- - HHEIT (FER
7 3 oIS (Y 4 260 3.(1233.5 10-10-8-8 | 13.5 8 (4_74(; ;ﬁg{;( )
X :Speightstown £}:Tap Diva Robert Schaedle
w v 5 | BtEEE 3:13.7 4-7-11-10 | 13.5 = 6 478 | REB— ()
856 | ®YHY 60.0 Q) © |7AHEER
R:7ZAINTGTFH— B:U—RHFo A AU
Ny 3 HORMEIf2 3:13.7 8-9-10-10 | 13.5 - 1" 456 | Pt (W)
98|11 ERYY " 58.0 P) (g |A=I=L=vvT
Rifyd=FIVIYIT B:AVRTT4F—U A B
< VO 6 | ERARE 3:14.3 2-2-3-4 | 13.6| — 9 | 474 |KIEERE EH)
10 8]12| ®FYYRAFTIF Y e 60.0 G172 46 | COCOROMSE
R:IAYYTSvva B:ieA45 Il Bt
. KIRE : -5-7- - TN E S}
1 8 ®F7AT7—0OTA 4 &0 (32114/27) 4-5-7-8 | 13.6 12 (4_3:) H ( )
R:VEIWDA— B:FAT7—A4—ER it
N R N FE— . _19-19— = ERE#= (ER)
1 2 R S A F > 8 60.0M§ 3.2853.1 12-12-12-12| 13.7 10 (l_l?é) S
RND B:SIRITSAY HFAIRIw R
[ BN
En'y 49.1-37.0
A\mDLSE N
@ 1—F—&EBIE(
13—+ — 9=12,1(6,8,7)5(11,10)- (4,3) =2
20—F— 9=(12,7)1(8,5) (6,10)11,3,4=2
30—7— 9=7-(12,10)-1-5,8(3,4) 11,6=2
43—F— 9=7-10-(12,1)5,4-(8,3) (11,6) =2
0 ILRE
B s 9 430 | [ 94K 7-9 250 e B 6-7 4004 3EE 1-7-9 6304
B B 9 140 1-9 450/ 5 E 7-9 460H4 3EH =71 3,440M
7 110/ 1-7 240 58 9-7 1,160H4
1 140

ABIC OV TRUTEREERRODDZE. THRIIZEL.




